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‘ The ﬁgure In the margin indicate full marks
for the qu&stlons

(a} - vhat is chil‘l'actenstlcs of Primary Key?

@ Whmh “normal form depends upon the
~ Property of transitivity ? -

) By whlch term the size of data is known ?

(@) How l'elatlon is different from relatlon state ?
[Tumn over




(¢) What.is pa'_rticipationv in ER Diagram ? |
() What is data abstracton in BDM ?

2, AnSWer any ﬁve ﬁ'om the followmg questlons
: 3x5=15

(a) How composrte attribute' is different from

atomic attribute ? Explain ‘with: example.

 (b) Define DBMS. Give brief description on the

disadvantages of DBMS.

(c) What is cascadmg rollback ? Explam with
T example

(d) How natural join is dxﬁ‘erent from equijoin ? |

Explain. with example.

(e) Mention the inference rules for functlonal
~ dependencles

(f) Drﬂ'erencc between prime - and nOn-prime :

attributes.
.3. Answer any five from the followmg questlons
© . 4x5=20

(a) How SELECT operation works ? Retrieve the
name and address of all employees who work
for the Research Department.

- (®) Drscuss the three schema architecture of
DBMS.
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(@)

©

®

Define schema How 1s 1t drfferent from
relation ? Explain. o

'What are the. ACID properties in transaction
- -processing ? Mention all. :

Discuss the syntax of the fbllowiﬂg':'

CREATE, INSERT, UPDATE, ALTER, DE-
LETE with proper examples.

Drscuss the DIVISION operatlon in relational
algebra with example.

Answer any ﬁve from the followmg questions :

(a)

(b)

()

(@

6x5=30

Draw an ER Diagram for Student Manage-A
ment System for Bodoland University.

Write a technique for transforming ER model

to relation schema with example.

Discuss the informal design guidelines for
relation schema with proper ‘example.

_Write an algorithim for finding a Minimal

Cover F for a set E of functional dependen-
cies. Fmd the minimal cover. Find the
minimal cover of the following set F of
functional dependencies

F={B—>A,D— A, AB— D}
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(e) DlSCllSS the ‘different types of llormal fol-ms .
with proper examples. :

6)) What is conflict senallzablhty ? How to test
" for conflict serializability of a schedule ?
Discuss Wlth examples. ,

5. Write short notes on any three : 3x3=9
. (a) ‘Forelgn Key ' | -
(b) Primary Key
- (c) Transaction Processing .

- (d) Data Fragmentation.
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